Adding and Subtraction Like Terms

Name: ________________
Block: _______

	1. Which is equivalent to 

(5x2 + 4x  + 1) + (-7x + 2) ?


A.  -2x2 + 6x + 1


B.  5x2 – 3x – 1 


C.  5x2 – 3x + 3

D. 5x2 + 11x + 3

2. Which is equivalent to 

(7g + 8h – 9) + (-g – 3h – 6k)?


A.  6g + 5h – 15k


B.  6g + 5h – 6k – 9


C.  -7 – 2h + 54k


D.  8g + 11h + 6k – 9 

3. Which is equivalent to 

(3m + 6n – 5) – (2m – 3n + 6) ?


A.  m – 3n + 1


B.  m – 3n – 1 


C.  m + 9n – 11


D.  -5m – 9n – 11

4. Which is equivalent to 

(5x2 + 17x – 14 ) + (-3x2 – 8x + 6) ?


A.  2x2 + 9x – 8


B.  2x4 + 9x2 – 8


C.  8x2 + 25x + 20

D. -15x2 – 136x – 84

5. Which is equivalent to 

(18x4 – 6x3 + 7x – 6 ) – (4x4 + 6x2 – 6x + 15) ?


A.  -21x9

B.  15x9 – 21 


C.  12x4 + x + 9

D. 14x4 – 6x 3 – 6x2 + 13x – 21 

6. Which expression is equivalent to 

(3m + 6n – 5) + (2m – 3n + 6) ?


A.   m + 3n + 1


B.  5m + 3n + 1


C.  5m + 9n + 11

D. 6m – 18n – 30

7. Which expression is equivalent to 

(7x + 8y – 8) – (-x – 3y – 6z) ?


A.   8x2 + 5y2 – 2z


B.  -7x2 – 24y2 – 6z – 8 


C.   6x + 5y + 6z – 8


D.   8x + 11y + 6z – 8 


	8. Which is equivalent to 

(15x2 + 3x – 6) – (15x2 + 3x + 6) ?


A.  -12


B.   12


C.    0


D.  30x2 + 6x

9. Which is equivalent to 

(15x2 + 8x – 9)  +  (3x2 – 2x + 8)  ?


A.  12x2 – 10x – 17


B.  18x2 + 6x – 1


C.  18x2 + 10x + 17


D.   18x4 + 6x2 – 1 

10. (4x - 2y) + (-2x + 6y)  = _____

A    2x + 4y

B   -2x + 10y

C   -2x - 10y

D    6x + 8y

11. (3m - 6n) + (2m + n) = _____

A   5m - 5n

B  -4m + n

C   m - 7n

D   2m - 5n

12. (7x2 + 8x - 4) - (6x2 + 8x - 6) = 

A    x2 - 10

B    x2 + 2

C   13x2 + 16x - 10

D   13x2 + 2

13. (15m + 11 - 6m2) - (18 - 6m2 + m) = 

A   7 + 21m - 7m2
B   12m2 + 16m - 7

C   14m - 7

D   14m + 29

14. Find the sum or difference.
(5a – 3b) + (2a + 6b)
A. 3a – 9b
B. 3a + 3b

C. 7a + 3b

D. 7a – 3b
15.  Find the sum or difference.
(5a – 3b) – (2a + 6b)
A. 3a – 9b
B. 3a + 3b

C. 7a + 3b

D. 7a – 9b


	16.Simplify: 
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What is the perimeter of the triangle
shown in the drawing?
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18.Simplify: 
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	Bonus: 

1. Simplify: 
[image: image9.wmf]3

5

2

4

-

-

c

b

a


A


[image: image10.wmf]3

5

2

4

1

c

b

a

 

B


[image: image11.wmf]3

5

2

4

c

b

a


C


[image: image12.wmf]3

2

5

4

c

a

b

 

D


[image: image13.wmf]5

3

2

4

b

c

a





_1117965318.unknown

_1117965354.unknown

_1117965371.unknown

_1117965390.unknown

_1117965336.unknown

_1117965279.unknown

_1117965310.unknown

_1117965260.unknown

